
MATHS

BOOKS - NAGEEN MATHS (HINGLISH)

PROBABILITY

Solved Example Type

1. Find the probability of getting head in a toss of one coin:

Watch Video Solution

2. If two coins are tossed simultaneously, find the probabilities of the

following events: 

(i) two heads 

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_PRyyxi3FZqMZ
https://dl.doubtnut.com/l/_EvbHAnKPHwEG


(ii) at least one head 

(iii) at most one head.

Watch Video Solution

3. If three coins are tossed simultaneously, find the probability of getting: 

(i) two heads 

(ii) one head and two tails 

(iii) at least one head

Watch Video Solution

4. In a throw of a dice, find the probability of: 

(i) getting a multiple of 3 

(ii) getting a number which is not a multiple of 3.

Watch Video Solution

https://dl.doubtnut.com/l/_EvbHAnKPHwEG
https://dl.doubtnut.com/l/_vXkqxn3iVC1f
https://dl.doubtnut.com/l/_6tK6jghBqjdd


5. A card is drawn at random from a well shuffled pack of 52 cards. Find

the probability that card drawn is: 

(i) an ace 

(ii) a heart 

(iii) black 

(iv) either an ace or black.

Watch Video Solution

6. There are 30 tickets numbered from 1 to 30. A ticket is drawn at

random, find the probability of getting a ticket whose number is: 

(i) multiple of 3 

(ii) multiple of 7 

(iii) multiple of 3 or 7

Watch Video Solution

https://dl.doubtnut.com/l/_LPAZSdz4o1zj
https://dl.doubtnut.com/l/_kFRiHxww3Ypo


7. There are 5 red and 3 black balls in a bag. A red ball is drawn at random.

Find its probability.

Watch Video Solution

8. There are 5 black and 4 red balls ina bag. Two balls are drawn at

random. Find the probability that both balls are red.

Watch Video Solution

9. Find the probability of getting the same number of two dice in a single

throw of two dice.

Watch Video Solution

10. The probability of the occurrence of an event is . Find the

probability of the non occurrence of the event.

3

7

https://dl.doubtnut.com/l/_frFB6rcd6Kkf
https://dl.doubtnut.com/l/_WB7WRc3LZNJo
https://dl.doubtnut.com/l/_1hH8jvb04uE9
https://dl.doubtnut.com/l/_JEtKVYWKLTnC


Watch Video Solution

11. The odds in favour of an event are . Find the probability of the

occurrence of the event.

Watch Video Solution

3: 2

12. The odds against of an event are . Find the probability of the

occurrence of the event.

Watch Video Solution

3: 4

13. Find the probability of  Sundays in an ordinary year.

A. 

B. 

C. 

53

1/7

2/7

3/7

https://dl.doubtnut.com/l/_JEtKVYWKLTnC
https://dl.doubtnut.com/l/_12SU4ExdczkV
https://dl.doubtnut.com/l/_srw7iNGATwyJ
https://dl.doubtnut.com/l/_2VEfJGWHZjSM


D. 

Answer: A

Watch Video Solution

4/7

14. In a horse -race, the probabilities to win the race for three horses A,B

and C are  and  respectively. Find the probability to win the race

of any one horse.

Watch Video Solution

,
1

4

1

5

1

6

15. Find the probability of getting a sum of 9 or 10 in a throw of two dice.

A. 

B. 

C. 

D. 

7

18

7

24

7

36

7

42

https://dl.doubtnut.com/l/_2VEfJGWHZjSM
https://dl.doubtnut.com/l/_APy2veoQZRSx
https://dl.doubtnut.com/l/_b5zAdocBoZqc


Answer: C

Watch Video Solution

16. The probability of apointment of A at a post is  and probability of

appointment of A at a post is  and probability of appointment of B is 

. If only one can be appointment, then find its probability.

Watch Video Solution

1

2
1

2

1

3

17. Find the probability of getting two heads in two tosses of a coin.

Watch Video Solution

18. The probability of solving a problem of mathematic for A and B are 

and  respectively. If both try the problem, find the probability that the

problem will be solved.

Watch Video Solution

1

3
1

5

https://dl.doubtnut.com/l/_b5zAdocBoZqc
https://dl.doubtnut.com/l/_hmimWSKRjEpX
https://dl.doubtnut.com/l/_tlos6tPinNw6
https://dl.doubtnut.com/l/_nPGYcwDSUh8T


19. There are 4 red and 5 white balls in a bag. A ball is drawn at random

and then again a ball is drawn from the remaining balls. Find the

probability that both drawn balls are red.

Watch Video Solution

20. Four cards are drawn from a pack of 52 cards without replacement.

Find the probability that all of them are jack.

Watch Video Solution

21. Find the probability of getting 5 at least once in there throws of a

dice.

Watch Video Solution

https://dl.doubtnut.com/l/_nPGYcwDSUh8T
https://dl.doubtnut.com/l/_vdPf9zLNZgOb
https://dl.doubtnut.com/l/_CQ58jnuKQD4k
https://dl.doubtnut.com/l/_3d505gAhC4Bn


22. There are 8 white and 7 black balls in first bag and 9 white and 6 black

balls are in second bag. One ball is drawn from each bag. Find the

probability that both are of the same colour.

Watch Video Solution

23. There are 6 red and 4 white balls in a bag. Two-Two balls are drawn

two times from this bag such that before drawing the balls second time

the balls replaced in the bag which were drawing first time. Find the

probability of getting 2 red balls in first time and 2 white in second time.

Watch Video Solution

24. There are  red and  black balls in first bag and  red and  black balls

i second bag. A ball is drawn from one of the bags. Find the probability

that the ball drawn is red.

Watch Video Solution

5 3 4 5

https://dl.doubtnut.com/l/_dQm14aQOgdVq
https://dl.doubtnut.com/l/_CINqzVylZb7F
https://dl.doubtnut.com/l/_6p6yLKtuuWel


25. The probabilities of hitting a target by A, B and C are  and 

respectively. 

If all three hits the target simultaneously then find the probability of

hitting the target by the least two of them.

Watch Video Solution

,
3

5

3

4

1

3

26. Two coins are tosses simultaneously. Find the probability of getting: 

(i) one head 

(ii) at least one head 

(iii) no tail

Watch Video Solution

27. In a throw of one dice the samle space
S
=
{
1
,
2
,
3
,
4
,
5
,
6
}
⇒
n
(
S
)
=

6
(i) Let E
1
=
event of getting 5
=
{
5
}
⇒
n
(
E
1
)
=
1
and P
(
E
1
)
=
n
(
E
1
)
n

(
S
)
=
1
6
(ii) Let E
2
=
event of getting a number greater than 2
=
{
3
,
4
,
5
,

6
}
⇒
n
(
E
2
)
=
4
P
(
E
2
)
=
n
(
E
2
)
n
(
S
)
=
4
6
=
2
3
(iii) Let E
3
=
event of

https://dl.doubtnut.com/l/_bZWXK0vFIJVU
https://dl.doubtnut.com/l/_T6yi1MLS3jHJ
https://dl.doubtnut.com/l/_Px5jgK6WzWOb


getting 6
=
{
}
⇒
n
(
E
3
)
=
0
∴
P
(
E
3
)
=
n
(
E
3
)
n
(
S
)
=
2
6
=
0
(iv) Let E
4

=
event of getting and odd number =
{
1
,
3
,
5
}
⇒
n
(
E
4
)
=
3
∴
P
(
E
4
)
=
n

(
E
4
)
n
(
S
)
=
3
6
=
1
2

Watch Video Solution

28. In one throw of a pair of dice, the sample space
n
(
S
)
=
36
(i) Let E
1
=

event of getting the sum of numbers on two dice 9
=
{
(
3
,
6
)
,
(
4
,
5
)
,
(
5

,
4
)
,
(
6
,
3
)
}
⇒
n
(
E
1
)
=
4
and P
(
E
1
)
=
n
(
E
1
)
n
(
S
)
=
4
36
=
1
9
(ii) Let

E
2
=
event of getting the sum of numbers on two dice at least 9
=
{
(
3
,
6

)
,
(
4
,
5
)
,
(
5
,
4
)
,
(
6
,
3
)
,
(
4
,
6
)
,
(
5
,
5
)
,
(
6
,
4
)
,
(
5
,
6
)
,
(
6
,
5
)
,
(
6
,
6

)
}
⇒
n
(
E
2
)
=
10
and P
(
E
2
)
=
n
(
E
2
)
n
(
S
)
=
10
36
=
5
18

Watch Video Solution

29. There are 6 red and 4 black balls in a bag. A ball is drawn at random.

Find the probability that the ball drawn is red.

Watch Video Solution

https://dl.doubtnut.com/l/_Px5jgK6WzWOb
https://dl.doubtnut.com/l/_FFlzWUPjPMXh
https://dl.doubtnut.com/l/_prbveSjyI7Eu


30. There are 5 white and 4 red balls in a bag. Two balls are drawn at

random. Find the probability that both balls are white.

Watch Video Solution

31. A card is drawn a from a well shuffled pack of 52 cards. Find the

probability that card drawn is: 

(i) black 

(ii) black jack 

(iii) black or a king

Watch Video Solution

32. The probability of happening of an event is . Find the probability of

not happening the event.

Watch Video Solution

3

5

https://dl.doubtnut.com/l/_prbveSjyI7Eu
https://dl.doubtnut.com/l/_zsUZ7QQqAgt9
https://dl.doubtnut.com/l/_hrLLx8TAWExD
https://dl.doubtnut.com/l/_JVPL2nnfmU8T
https://dl.doubtnut.com/l/_w3uZwg6M1mm7


33. The odds in favour of an event are . Find the probability of the

occurrence of the event.

Watch Video Solution

2: 3

34. Two dice are thrown simultaneously find: 

(i) Odds in favour of getting the sum of numbers 

9 on two dice, 

(ii) odds against of getting the sum of numbers 8 on two dice.

Watch Video Solution

35. Find the probability of getting a sum at least 5 on three dice in one

throw three dice.

Watch Video Solution

https://dl.doubtnut.com/l/_w3uZwg6M1mm7
https://dl.doubtnut.com/l/_zrr3FPKmlP3c
https://dl.doubtnut.com/l/_qni7mWc9CGmv


36. Here n
 (
 S
 )
 =
 .
 25
 C
 1
 =
 25
 Let E
 =
 event of getting a ticket whose

number is either a multiple of 2 or multiple of 3
=
{
2
,
3
,
4
,
6
,
8
,
9
,
10
,
12

,
14
,
15
,
16
,
18
,
20
,
21
,
22
,
24
}
⇒
n
(
E
)
=
16
∴
P
(
E
)
=
n
(
E
)
n
(
S
)
=
16
25

Watch Video Solution

37. For two events  and  and 

. Find: 


(i)  


(ii)  


(iii)  


(iv)  (neithter  not )

Watch Video Solution

E1 E2, P (E1) = , P (E2) =
1

2

1

3

P (E1 ∩ E2) =
1

10

P (E1orE2)

P (E1but notE2)

P (E2but notE1)

P E1 E2

38. The probabilities of the occurrence of two events  and  are 0.25

and 0.50 respectively. The probability of their occurrence simultaneously

is 0.15, find the probability that neither  nor  will occur.

E1 E2

E1 E2

https://dl.doubtnut.com/l/_OMe5v0VfN4qZ
https://dl.doubtnut.com/l/_aOfU0eCC7tXA
https://dl.doubtnut.com/l/_N9mCRmJv06Dv


Watch Video Solution

39. The Probability that at least one of the events  and  will occur is

0.6. If the probability of their occurrence simultaneously is 0.2, then find

Watch Video Solution

E1 E2

P( ¯̄̄E 1) + P( ¯̄̄E 2)

40. If  and  be two events such that  and 

 then find: 


(i)  (ii) 

Watch Video Solution

E1 E2 P (E1) = 0.3, P (E2) = 0.2

P (E1 ∩ E2) = 0.1,

P( ¯̄̄E 1 ∩ E2) P(E1 ∩ ¯̄̄E 2)

41. A card is drawn from a well shuffled pack of 52 cards. Find the

probability that it is heart or a king .

Watch Video Solution

https://dl.doubtnut.com/l/_N9mCRmJv06Dv
https://dl.doubtnut.com/l/_FwEZv4FNahBZ
https://dl.doubtnut.com/l/_5aUkRu6FSnV0
https://dl.doubtnut.com/l/_jfZMCBP9YJ3L


42. Let S
 be the sample space.
∴
 n
 (
 S
 )
 =
 36
 Let E
 =
 event of getting a

doublet
=
{
(
1
,
1
)
,
(
2
,
2
)
,
(
3
,
3
)
,
(
4
,
4
)
,
(
5
,
5
)
,
(
6
,
6
)
}
⇒
n
(
E
)
=
6

Let F
=
event of getting a sum of 10
=
{
(
4
,
6
)
,
(
5
,
5
)
,
(
6
,
4
)
}
⇒
n
(
f
)
=

3
Now E
∩
F
=
{
(
5
,
5
)
}
⇒
n
(
E
∩
F
)
=
1
∴
P
(
E
∪
F
)
=
P
(
E
)
+
P
(
F
)
−
P
(
E

∩
F
 )
−
6
36
+
3
36
−
1
36
=
8
36
=
2
9
Now the probability that neither a

doublet nor a sum of 10 will appear
=
P
(
¯¯¯
E
∩
¯¯¯
F
)
=
P
(
¯¯¯¯¯¯¯¯¯¯¯
E
∪
F
)

=
1
−
P
(
E
∪
F
)
=
1
−
1
9
=
7
9

Watch Video Solution

43. In a town of 6000 people 1200 are over 50 years old and 2000 are

female. It is known hat 30% of the females are over 50 years. What is the

probability that a random chosen individual from the town either female

or over 50 year?

A. 

B. 

13

30

13

60

https://dl.doubtnut.com/l/_jfZMCBP9YJ3L
https://dl.doubtnut.com/l/_wyJd2xFwVuLN
https://dl.doubtnut.com/l/_nEbuFy5Z8Yxs


C. 

D. 

Answer: A

Watch Video Solution

13

90

26

30

44. If A and B are two mutually exclusive and exhaustive events and

 then find .

Watch Video Solution

P (B) = P (A),
3

2
P (A)

45. A and B are two events such that  and 

 then evaluate: 


(i)  (ii)  


(iii)  (iv) 

Watch Video Solution

P (A) = 0.54, P (B) = 0.69

P (A ∩ B) = 0.36,

P (A ∪ B) P (A' ∩ B' )

(A ∩ B' ) P (B ∩ A' )

https://dl.doubtnut.com/l/_nEbuFy5Z8Yxs
https://dl.doubtnut.com/l/_y2tqJWA9Ezhe
https://dl.doubtnut.com/l/_AOWcMPzye8Kn


Exercise

1. In a throw of a single dice, find the probability of getting: 

(i) a multiple of 2 

(ii) an odd number 

(iii) a number greater than 3.

Watch Video Solution

2. In two throw of a dice find the probability of getting: 

(i) a sum of 9 

(ii) a sum of at least 9 

(iii) a number 5 on at least on throw.

View Text Solution

3. Find the probability of getting one head and one tail in one toss of two

coins.

https://dl.doubtnut.com/l/_zYfbjLuwmBo3
https://dl.doubtnut.com/l/_EOF5MJZSHmKQ
https://dl.doubtnut.com/l/_OICC5vTCZJ0u


Watch Video Solution

4. Find the probability of 53 Mondays in a leap year.

Watch Video Solution

5. Find the probability of 53 Sundays and 53 Mondays in a leap year.

Watch Video Solution

6. Find the probability of drawing a king from a well shuffled pack of 52

cards.

Watch Video Solution

7. A card is drawn from a sell shuffled pack of 52 cards. Find the

probability of getting: 

https://dl.doubtnut.com/l/_OICC5vTCZJ0u
https://dl.doubtnut.com/l/_go7NVkwov0cR
https://dl.doubtnut.com/l/_Ns2cZBsFjLCi
https://dl.doubtnut.com/l/_PSZQL8qZ67eT
https://dl.doubtnut.com/l/_tyjC48HRTd5y


(i) a red card 

(ii) a diamond 

(iii) a red card or a jack.

Watch Video Solution

8. There are 20 tickets numbered 1 to 20. A ticket is drawn. Find the

probability of drawing a ticket whose number is: 

(i) a multiple of 3 

(ii) a multiple of 5 

(iii) a multiple of 3 or 5.

Watch Video Solution

9. There a 9 red and 5 black balls in a bag. A black ball is drawn at random.

Find its probability.

Watch Video Solution

https://dl.doubtnut.com/l/_tyjC48HRTd5y
https://dl.doubtnut.com/l/_EeCx2anLRHyk
https://dl.doubtnut.com/l/_dfuT5JQOckru
https://dl.doubtnut.com/l/_sDyMfPfCWbwX


10. There are 5 red, 4 black and 3 blue balls in bag. A ball is drawn at

random. Find the probability that the ball drawn is: 

(i) black 

(ii) red or black.

Watch Video Solution

11. There are 4 white and 6 black balls in a bag. Two balls are drawn at

random. Find the probability that both balls drawn are black.

Watch Video Solution

12. There are 5 black and 6 red balls in a bag. If 3 balls are drawn at

random, find the probability that these balls are black.

Watch Video Solution

https://dl.doubtnut.com/l/_sDyMfPfCWbwX
https://dl.doubtnut.com/l/_Fd8X1xSrmok7
https://dl.doubtnut.com/l/_3W1vwwKUEkbD


13. The odds in favour of occurrence of an event are . Find the

probability of the occurrence of the event.

Watch Video Solution

2: 5

14. The odds in favour of the occurrence of an event are . Find the

probability of the non-occurrence of the event.

Watch Video Solution

3: 5

15. The odds against of the occurrence of an event are  . Find the

probability of the occurrence of the event.

Watch Video Solution

4: 5

16. The odds against of the occurrence of an event are . Find the

probability of the non-occurrence of the event.

6: 7

https://dl.doubtnut.com/l/_CCVAZbJNi9Qt
https://dl.doubtnut.com/l/_Ap2zMD3onnym
https://dl.doubtnut.com/l/_jI08WMHyBOio
https://dl.doubtnut.com/l/_JrZd4LCKtK6n


Watch Video Solution

17. In a class of 50 students, 20 are boys and rest are girls. A student is

selected at random. Find the probability of selecting a boy.

Watch Video Solution

18. The probability of the occurrence of an event is . Find the

probability of non-occurrence of the event.

Watch Video Solution

3

10

19. The probability of the non-occurrence of an event is . Find the

probability of the occurrence of the event.

Watch Video Solution

2

7

https://dl.doubtnut.com/l/_JrZd4LCKtK6n
https://dl.doubtnut.com/l/_8iRG8vWA2ueO
https://dl.doubtnut.com/l/_nzu4XpzDQnsr
https://dl.doubtnut.com/l/_MhDJCZgUsRwD


20. In a horse race, the probability that horse A can win is  and the

probability that horse B can win is . Find the probability that any one

can win the race.

Watch Video Solution

2

5
1

4

21. The probabilities that three children can win a race are  and .

Find the probability that any one can win the race.

Watch Video Solution

,
1

3

1

4

1

5

22. The odds in favour for three horses participating in a house-race are

 and . Find the probability that any one can win the race.

View Text Solution

1: 3, 2: 5 3: 7

https://dl.doubtnut.com/l/_elwvzfadVlIS
https://dl.doubtnut.com/l/_wBakmbqwyeZn
https://dl.doubtnut.com/l/_NZnHdgkrGw2I


23. In two independent events the probability of happening one event is

 and probability of happening of second event is . Find the

probability of happening of both events.

Watch Video Solution

2

7

1

5

24. Find the probability of getting tail each time in three tosses of a coin.

Watch Video Solution

25. Find the probability of getting 3 each time in three throws a dice.

Watch Video Solution

26. Find the probability of getting at least one head in three throws of a

coin.

Watch Video Solution

https://dl.doubtnut.com/l/_LAPdrEit89dM
https://dl.doubtnut.com/l/_qYczKBcNrSfM
https://dl.doubtnut.com/l/_RhjgQOWQWnya
https://dl.doubtnut.com/l/_kTTclmWZRsz9


27. Find the probability of getting 5 at most 3 times in four throws of a

dice.

View Text Solution

28. The probability of happening of an event is 0.6 for one experiment. In

three such experiments, find the probability of happening the event at

least one time.

View Text Solution

29. A can hit a target 4 times out of 5 trial. B can hit 3 times of 4 trials and

C can hit 2 times out of 3 trials. If all three hit the target sumultaneously,

find the probability of hitting the target.

View Text Solution

https://dl.doubtnut.com/l/_kTTclmWZRsz9
https://dl.doubtnut.com/l/_xkuDePrmQQin
https://dl.doubtnut.com/l/_F5DyDo0hsV2q
https://dl.doubtnut.com/l/_fOAfq4eV5wJ1
https://dl.doubtnut.com/l/_lBAHe6zjUSSt


30. A,B and C can hit a target 3 times out of 5 trials, 4 times out of 5 trials

and 2 times out of 5 trials. Find the probability that: 

(i) exactly two can hit the target 

(ii) at least two can hit the target.

Watch Video Solution

31. The probability to pass in an examination of mathematics for three

students are . Find the probability that at least two students

will pass in this examination.

Watch Video Solution

, ,
1

4

1

5

1

6

32. The probability of solving a problem by three students are .

Find the probability that the problem will be solved if all three students

try the problem simultaneously.

Watch Video Solution

, ,
1

3

1

4

1

5

https://dl.doubtnut.com/l/_lBAHe6zjUSSt
https://dl.doubtnut.com/l/_2rzaNq1Ls6p5
https://dl.doubtnut.com/l/_jmZXDVY3gZY8
https://dl.doubtnut.com/l/_QLvDBU2yHoba


33. There are 5 red and 7 white balls in one bag and 3 red and 8 white

balls in second bg. If a ball is drawn at random from one the bags, find

the probability that it is red.

Watch Video Solution

34. There are 5 red and 5 black balls in first bag and 6 red and 4 black

balls is second bag. One -one ball is drawn from each bag. Find the

probability that: 

(i)both balls are of the same colour, 

(ii) one ball is red and other is black.

View Text Solution

35. There are 4 white and 3 black balls in a bag. Find the probability of

drawing 2 white ball one by one without replacement.

Watch Video Solution

https://dl.doubtnut.com/l/_QLvDBU2yHoba
https://dl.doubtnut.com/l/_Wb8JOVKh5as5
https://dl.doubtnut.com/l/_VFIESGlTEMAb


36. There are 8 white and 7 black balls in a bag . Three-three balls are

drawn twice from the bag and balls drawn first time are not being

replaced when the balls are drawn second time. Find the probability that

first three balls drawn are white and second thre balls drawn are black.

View Text Solution

37. Two cards drawn without replacement from a well shuffled pack of 52

cards. Find the probability that cards drawn are aces.

Watch Video Solution

38. There are 10 defective bulbs in a group of 100 bulbs. If a sample of 8

bulbs are selected at random then find the probability that: 

(i) in this sample 3 bulbs are defective and 5 are non-defective. 

(ii) in this sample at least one bulb is defective.

Watch Video Solution

https://dl.doubtnut.com/l/_CDWZ6tbzqplU
https://dl.doubtnut.com/l/_ntIL9zNMzcjs
https://dl.doubtnut.com/l/_D6sVzcIvJ9uW


39. In one toss of a coin, find the probability of getting: 

(i) head (ii) tail

Watch Video Solution

40. In one toss of two coins together find the probability of getting: 

(i) two tails 

(ii) one head and one tail

Watch Video Solution

41. In one toss of three coins together, find the probability of getting: 

(i) two heads and one tail 

(ii) at least two tails

Watch Video Solution

https://dl.doubtnut.com/l/_QTBVelmnCN1j
https://dl.doubtnut.com/l/_AND30AwyQOgh
https://dl.doubtnut.com/l/_Wjr3TIGt4h2Q


42. In one throw of a dice, find the probability of getting: 

(i) an even number 

(ii) a multile of 3 

(iii) a number greater than 4

Watch Video Solution

43. In one throw of two dice together, find the probability of getting: 

(i) a sum of 5 

(ii) same number on two dice 

(iii) a sum less than 5 

(iv) a sum at least 8

View Text Solution

44. In one throw of three dice together, find the probability of getting: 

(i) same number on three dice 

https://dl.doubtnut.com/l/_oUdKDelMG4RF
https://dl.doubtnut.com/l/_nLvDoFjix7CK
https://dl.doubtnut.com/l/_4dfUsha993gR


(ii) a sum less than 6 

(iii) a sum at least 6

Watch Video Solution

45. A card is drawn from a well shuffled pack of cards. 

Find the probability of getting: 

(i) a card of heart 

(ii) a king

Watch Video Solution

46. There are two children in a family. Find the probability that at most

one boy is there in the family.

Watch Video Solution

https://dl.doubtnut.com/l/_4dfUsha993gR
https://dl.doubtnut.com/l/_BJ90fQyX0pkw
https://dl.doubtnut.com/l/_DBHqItjGcnMT


47. There are 7 red, 5 black and 3 white balls in a bag. A ball is drawn at

random. Find the probability that ball drawn is:

(i) white 

(ii) not white 

(iii) either red or white.

Watch Video Solution

48. There are 12 tickets numbered 1 to 12. A ticket is drawn at random.

Find the probability that the number on this ticket is either a multiple of

3 or 4.

Watch Video Solution

49. The probability of the occurrence of an event is . Find the

probability of the non-occurrence of the event.

Watch Video Solution

3

8

https://dl.doubtnut.com/l/_zYeiFMad53lx
https://dl.doubtnut.com/l/_KaTo49Zf4SyJ
https://dl.doubtnut.com/l/_2B6FpCYGr6A5


50. The probability of non-occurrence of an event is . Find the

probability of the occurrence of the event.

Watch Video Solution

5

12

51. The odds in favour of an event are . Find the probability of the non

occurrence of the event.

Watch Video Solution

3: 4

52. The odds against of an event . Find the probability of the

occurrence of the event.

Watch Video Solution

5: 3

53. There are 15 prizes and 25 blaks in a lottery. Find the probability of

getting a prize on one ticket.

https://dl.doubtnut.com/l/_nPwI2DzF4G5u
https://dl.doubtnut.com/l/_V0Ebr7o9PY7B
https://dl.doubtnut.com/l/_1h9AIaQ8Wzsh
https://dl.doubtnut.com/l/_G7qm7PZ0XgUj


Watch Video Solution

54. Two dice are thrown. Find the odds in favour of
getting the sum
i.
4 ii.

5 iii. what are the odds against getting the
sum 6?

Watch Video Solution

55. Two letters are drawn from the english alphabets. 

Find the probability that both letters are vowels.

Watch Video Solution

56. A and B are two events such that  and 

, then find .

Watch Video Solution

P (A) = 0.5, P (B) = 0.4

(AorB) = 0.6 P (AandB)

https://dl.doubtnut.com/l/_G7qm7PZ0XgUj
https://dl.doubtnut.com/l/_KhlyNUdtTi1O
https://dl.doubtnut.com/l/_HlcfUhKP2etf
https://dl.doubtnut.com/l/_vCSAFBMpMqrQ


57. A and B are two events such that  and

 (A and B , then find .

Watch Video Solution

P (A) = 0.60, P (AorB) = 0.85

P = 0.42 P (B)

58. (i) A and B are two events in a random experiment such that

 and , find  


(ii) If  and , then find the value of 

 and 

Watch Video Solution

P (A ∪ B) = 0.7, (A ∩ B) = 0.3 P( ¯̄̄A) = 0.4 P(¯̄̄B)

P (A) = P (B) =
2

3

4

9
P (A ∩ B) =

14

45

P (A ∪ B) P (A' ∩ B' )

59. For two mutually exclusive events A and B ,  and 

 find .

Watch Video Solution

P (A) =
1

3

P (B) = ,
1

4
(A ∪ B)

https://dl.doubtnut.com/l/_rh0YXD9N8gGI
https://dl.doubtnut.com/l/_t8xK23cwiLv4
https://dl.doubtnut.com/l/_qDMv7tu39iOF


60. A, B, C are three mutually exclusive and exhaustive events associated

with a random experiment. Fine 
 , it being given that 

Watch Video Solution

P (A)

P (B) = P (A)andP (C) = P (B).
3

2

1

2

61. A number is selected at random from first 200 natural numbers. Find

the probability that it is divisible by either 3 or 5.

View Text Solution

62. A card is drawn at random from a well shuffled pack of 52 cards. Find

the probability that it is either an ace or spade.

Watch Video Solution

https://dl.doubtnut.com/l/_NakPGnDPbdYf
https://dl.doubtnut.com/l/_BSpw0K9hhigq
https://dl.doubtnut.com/l/_PcNUohKQlxyz


63. A card is drawn at random from a well shuffled pack of 52 cards. Find

the probability that it is either red or a king.

Watch Video Solution

64. Two cards are drawn at random from a well shuffled pack of 52 cards.

Find the probability that the cards drawn are either red or aces.

Watch Video Solution

65. A pair of dice is thrown once. What is the probability that either an

even number of first dice or a sum of 8 will appear.

Watch Video Solution

66. A dice is thrown twice. Find the probability of getting 3 at least one

time.

https://dl.doubtnut.com/l/_7Xh4dxXVb9g0
https://dl.doubtnut.com/l/_9LMetH76iD25
https://dl.doubtnut.com/l/_z8dnVWW2z0Uv
https://dl.doubtnut.com/l/_pe4zdtwC0qQM


Watch Video Solution

67. A card is drawn from a well shuffled pack of 52 cards. What is the

probability that neither a spade nor a king will drawn?

Watch Video Solution

68. The probability of the occurrence of event A is  and the probability

of the occurrence of event B is . Find the probability that neigher A nor

B will occur, it is given that A and B are mutually exclusive events.

Watch Video Solution

1

3
1

4

69. There are 60% students in Maths and 305 in Biology. If 10% students

are in both subjects. Find the probability that a randomly selected

student has Maths or Biology.

View Text Solution

https://dl.doubtnut.com/l/_pe4zdtwC0qQM
https://dl.doubtnut.com/l/_f9pnNWu40vXP
https://dl.doubtnut.com/l/_nmgdYIt4egcN
https://dl.doubtnut.com/l/_NBuC1hG1nKdf


Mcq Type

70. There are 100 bolts and 50 nuts in a box, out of which 50% bolts and

50% nuts are defective. Two items are drawn at random from the box, find

the probability that both are either bolts or defective.

View Text Solution

71. Two dice are thrown together. What is the
probability that the sum of

the numbers on the two faces si neither divisible
by 3 nor by 4?

Watch Video Solution

72. The probabilities of three events  are such that

.Show that  lies in the interval .

Watch Video Solution

A, B, C

P (A) = 0.3, P (B) = 0.4, P (C) = 0.8, P (A ∩ B) = 0.09, P (A ∩ C) = 0.2

P (B ∩ C) [0.21, 0.46]

https://dl.doubtnut.com/l/_YFdgrpcxuLoS
https://dl.doubtnut.com/l/_DXrFd4NgfaaP
https://dl.doubtnut.com/l/_PJVRLoRIS21s


1. The one throw of two dice, the probability of getting an even number of

first or a tota of 8 is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2

9

4

9

5

9

7

9

2. Three coins are tossed together. Find the
probability of getting:
exactly

two heads (ii) at least two heads
 at least one head and one tail (iv)
 no

tails

A. 
1

2

https://dl.doubtnut.com/l/_T73uAWsT1mIN
https://dl.doubtnut.com/l/_m17TDnyMITwX


B. 

C. 

D. 

Answer: A

Watch Video Solution

1

3

1

4

1

6

3. The probability of the occurrence of an event is  


The probability of non-occurrence of the event is:

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

3

7

3

7

4

7

2

7

https://dl.doubtnut.com/l/_m17TDnyMITwX
https://dl.doubtnut.com/l/_AhHLHZuraAac


4. What is the probability that a leap year has 3 Sundays and 53

Mondays?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2

7

3

7

4

7

5

7

5. A problem in mathematics is given to 3 students whose chances of

solving it are . What is the probability that the problem is

solved?

A. 

; ;
1

2

1

3

1

4

3

4

https://dl.doubtnut.com/l/_AhHLHZuraAac
https://dl.doubtnut.com/l/_MPuYQv0xQTyj
https://dl.doubtnut.com/l/_STycqdiKg0jX


B. 

C. 

D. 

Answer: A

Watch Video Solution

1

2

1

3

1

4

6. There are 5 red and 4 black balls in a bag. The probability of drawing a

red ball is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4

9

5

9

5

11

6

11

https://dl.doubtnut.com/l/_STycqdiKg0jX
https://dl.doubtnut.com/l/_sEgyqAgF32UZ


7. A card is drawn at random from a pack of cards. The probability that

the card drawn is not diamond, is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1

4

3

4

1

13

12

13

8. The favourable chance of drawing a card of diamond from a pack of 52

cards is:

A. 

B. 

1: 3

3: 1

https://dl.doubtnut.com/l/_sEgyqAgF32UZ
https://dl.doubtnut.com/l/_BTYemJ0j3v8x
https://dl.doubtnut.com/l/_tjsfqeUmlLVs


C. 

D. 

Answer: A

Watch Video Solution

1: 4

4: 1

9. The probability of getting a sum of atleast 9 in one throw of two dice

is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

3

11

36

5

18

13

18

https://dl.doubtnut.com/l/_tjsfqeUmlLVs
https://dl.doubtnut.com/l/_qrB7S249WVGC
https://dl.doubtnut.com/l/_MjIU5rpIAkCW


10. In a single throw of three dice, determine the
probability of getting i.

total of 5 ii.
 total of at most 5 ii. a total of at least 5.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1

36

1

18

1

12

1

9

11. The probability that at least one of the events 
occurs is 0.6. If 


 occur
 simultaneously with probability 0.2, then find 

A. 

B. 

AandB

AandB

P (A) + P (B).

0.2

0.4

https://dl.doubtnut.com/l/_MjIU5rpIAkCW
https://dl.doubtnut.com/l/_SSr404xVEuPm


C. 

D. None of these

Answer: D

Watch Video Solution

0.8

12. If there are 6 girls and 5 boys who sit in a row, then the probability

that no two boys sit together is

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

⌊6⌊6

⌊2⌊11

⌊7⌊5

⌊11

⌊6⌊7

2⌊11

https://dl.doubtnut.com/l/_SSr404xVEuPm
https://dl.doubtnut.com/l/_BkS0tNFGGYRI
https://dl.doubtnut.com/l/_Es9NBwhsUfuV


13. A four digit number is formed using the digits 1, 2, 3, 5 with no

repetitions. Write the probability that the number is divisible by 5.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1

4

1

8

3

4

5

8

14. For two events A and B  and . The false

statement is:

A. 

B. 

C. 

P (A) =
3

4
P (B) =

5

8

P (A ∪ B) ≥
3

4

≤ P (A ∩ B' ) ≤
1

8

3

8

≤ P (A ∩ B) ≤
3

8

5

8

https://dl.doubtnut.com/l/_Es9NBwhsUfuV
https://dl.doubtnut.com/l/_Jn4VCPyTAYwp


D. 

Answer: D

View Text Solution

P (A ∪ B) ≤
1

2

15. 12 balls are keeped in three bags. The probability that there are 3 balls

in first bag is:

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

( )
10

110

9

2

3

( )
10110

9

3

2

.12
C3

312

.12
C3

123

https://dl.doubtnut.com/l/_Jn4VCPyTAYwp
https://dl.doubtnut.com/l/_6fZQi3U9BvdR


16. In one throw of two dice, the probability of getting a number on first

dice smaller than number on second dice, is,

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1

2

5

12

1

3

7

12

17. Two numbers are selected from first 40 natural numbers. The

probability that the sum of two number is odd is:

A. 

B. 

C. 

16

39

19

39

20

39

https://dl.doubtnut.com/l/_yiYqUjznukA4
https://dl.doubtnut.com/l/_PiaB850kQVR0


D. None of these

Answer: C

View Text Solution

18. In a single
throw of three dice, find the probability of getting the same

number on all
the three dice.

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

5

12

17

72

55

72

https://dl.doubtnut.com/l/_PiaB850kQVR0
https://dl.doubtnut.com/l/_xQrPUc3AM3gy


19. Cards are drawn one by one without replacement from a pack of 52

cards. The probability of the 11th card drawn is first ace,is:

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

451

884

373

884

164

4165

20. Three integers are chosen at random from the first 20 integers. The

probability that their product is even is:

A. 

B. 

C. 

4

19

17

19

16

19

https://dl.doubtnut.com/l/_IFvtMCMNegSp
https://dl.doubtnut.com/l/_yvguOJVHNY41


Ncert Questions

D. 

Answer: B

Watch Video Solution

5

19

1. The coin is tossed three times.

Watch Video Solution

2. A dice is thrown two times.

Watch Video Solution

3. Find the number of possible outcomes of tossing a coin four times.

Watch Video Solution

https://dl.doubtnut.com/l/_yvguOJVHNY41
https://dl.doubtnut.com/l/_sw2CbmYLTLDv
https://dl.doubtnut.com/l/_SeTwkuWWca6f
https://dl.doubtnut.com/l/_UT6C225qDLWc


4. A coin is tossed and a die is thrown

Watch Video Solution

5. A coin is tossed and then a die is rolled only in case a head is shown on

the coin.

Watch Video Solution

6. 2 boys and
2 girls are in room P and 1 boy 3 girls are in room Q. write

the
sample space for the experiment in which a room is selected and then

a
person.

Watch Video Solution

https://dl.doubtnut.com/l/_UT6C225qDLWc
https://dl.doubtnut.com/l/_q61xWdLd1FWd
https://dl.doubtnut.com/l/_ypasOl0j3Scc
https://dl.doubtnut.com/l/_C0oECWNWbD0Q


7. Describe the sample space for the indicated
experiment : One die of red

colour, one of
 white colour and one of blue colour are placed in a bag.

One die is selected
 at random and rolled, its colour and the number on

its uppermost face is
noted

Watch Video Solution

8. An experiment consists of recording boy-girl
 composition of families

with 2 children.
 (i) What is the sample space if we are interested in

knowing whether
it is a boy or girl in the order of their births?
(ii) What is

the sample space if we are

Watch Video Solution

9. A box contains 1 red and 3 identical white balls. Two balls are drawn at

random in succession without replacement. Write the sample space thise

experiment.

Watch Video Solution

https://dl.doubtnut.com/l/_NeDUm9iIZECR
https://dl.doubtnut.com/l/_9EjmOqMb8Mw6
https://dl.doubtnut.com/l/_3MXmlNrCtSI7


Watch Video Solution

10. An experiment consists of tossing a con and then throwing it second

time if a head occurs. If a tail occurs on the first toss, then a die is rolled

once. Find the sample space.

Watch Video Solution

11. Suppose 3 bulbs are selected at random form a lot. Each bulb is tested

and classified as defective (D) or non-defective (N). Write the sample

space of this experiment.

Watch Video Solution

12. A com is tossed. If the outcome is a head, a die is thrown. If the
 die

shows up an even number, the die is thrown again. What is the sample

space for the experiment?

Watch Video Solution

https://dl.doubtnut.com/l/_3MXmlNrCtSI7
https://dl.doubtnut.com/l/_gLf8FBfM58pN
https://dl.doubtnut.com/l/_4UUNgYQkr4wg
https://dl.doubtnut.com/l/_ff0PbZxn3Dk6


13. The numbers 1,2,3 and 4 are written separately on four slips of paper.

The slips are put in a box mixed thoroughly. A person draws two slips

from the box, one after the other without replacement. Describe the

sample space for the experiment.

Watch Video Solution

14. An experiment consists of rolling a die and the tossing a coin once if

the number on the die is even.If the number on the die is odd, the coin is

tossed twice. Write the sample space for this experiment.

Watch Video Solution

15. A coin is tossed. If it showsf a tail, we draw a ball from a box which

contains 2 red and 3 black balls. If it shows head, we throw a die. Find the

samle space for this experiment.

Watch Video Solution

https://dl.doubtnut.com/l/_ff0PbZxn3Dk6
https://dl.doubtnut.com/l/_aSXhfPmzoZK4
https://dl.doubtnut.com/l/_25Zuxxae1G0N
https://dl.doubtnut.com/l/_33WxqK7yr8rw


16. A die is thrown
 repeatedly untill a six comes up. What is the sample

space for this
experiment?

Watch Video Solution

17. A die is rolled.
 Let E be the event die shows 4 and F be the event die

shows even number.
Are E and F mutually exclusive?

Watch Video Solution

18. A die is thrown. Describe the following events: 

(i) A: number less than 7 

(ii) B: a number greater than 7 

(iii) C: a mutiple of 3 

(iv) D: a number less than 4 

(v) E: an even number greater than 4 

https://dl.doubtnut.com/l/_33WxqK7yr8rw
https://dl.doubtnut.com/l/_U7uScjXr3bxj
https://dl.doubtnut.com/l/_2J1l57FHKUpG
https://dl.doubtnut.com/l/_rj06oVvtqnHu


(vi) F: a number not less than 3 

Also find

Watch Video Solution

A ∪ B, A ∩ B, B ∪ C, E ∩ F , D ∩ E, A − C, D − E, E ∩ F ' , F '

19. An experiment involves rolling a
 pair of dice and recording the

numbers that come up. Describe the following
 events:
 A: the sum is

greater than 8, B: 2 occurs on either
 die
 C: the sum is at least 7 and a

multiple of 3.
Which pairs of these events

Watch Video Solution

20. Three coins are tossed once. Let A denote the event
 "three heads

snow", B denote the event "two heads and one tail show", C
 denote the

event three tails show and D denote the event "a head shows on
the first

coin". Which events are
(i) mutually e

Watch Video Solution

https://dl.doubtnut.com/l/_rj06oVvtqnHu
https://dl.doubtnut.com/l/_j9CUWltNQOxI
https://dl.doubtnut.com/l/_7Z8wxDfrK6Fc


21. Three coins are tossed. Describe
 (i) Two events which are mutually

exclusive.
 (ii) Three events which are mutually exclusive and exhaustive.

(iii) Two events, which are not mutually exclusive.
 (iv) Two events which

are mutually exclusive but not exhaustiv

Watch Video Solution

22. Two dice are thrown. The events A, B and C are as follows: 

A: getting an even number on the first die. 

B: getting an odd number on the first die. 

C: getting the sum of the number on the first dice . 


Describe the events 

(i)  (ii) not B (iii) A or B 


(iv) A and B (v) A but not C (vi) B or C 

(vii) B and C (viii) 

View Text Solution

≤ 5

A'

A ∩ B' ∩ C'

https://dl.doubtnut.com/l/_7Z8wxDfrK6Fc
https://dl.doubtnut.com/l/_9AGpgmhwkueC
https://dl.doubtnut.com/l/_4OoThHvx62ro
https://dl.doubtnut.com/l/_QivpMhjlM7g7


23. Which of the following cannot be valid assignment of probabilities for

outcomes of sample space  


Watch Video Solution

S = {W1, W2, W3, W4, W5, W6, W7}

24. A coin a tossed twice, that is the probability that at least one tail

occurs?

Watch Video Solution

25. A die is thrown, find the probability of following events: 

(i) A prime number will appear, 

https://dl.doubtnut.com/l/_QivpMhjlM7g7
https://dl.doubtnut.com/l/_tPI6VT16YrAo
https://dl.doubtnut.com/l/_g1uHnQs0F3Bm


(ii) A number greater than or equal to 3 will appear, 

(iii) A number less than or equal to one will appear, 

(iv) A number more than 6 will appear, 

(v) A number less than 6 will appear.

Watch Video Solution

26. A card is selected from a pack of 52 cards. 

(a) How many points are there in the sample space? 

(b) Calculate the probability that the card is an ace of spades. 

(c) Calculate the probability that the card is (i) an ace (ii) black card.

Watch Video Solution

27. A fair coin with 1 marked on one face and 6 on the other and a fair die

are both tossed. Find the probability that the sum of numbers that turn

up is (i) 3 (ii) 12.

Watch Video Solution

https://dl.doubtnut.com/l/_g1uHnQs0F3Bm
https://dl.doubtnut.com/l/_QIxPcKfXZ6lW
https://dl.doubtnut.com/l/_tu3iQs17LwYN


28. There are four men and six women
on the city council. If one council

member is selected for a committee at
random how likely is it that it is a

woman?

Watch Video Solution

29. A fair coin is tossed four times, and people win Re 1 for each head and

lose Rs 1.50 for each tail that turns up. From the sample space calculate

how many different amounts of money you can have after four tosses and

the probability of having each of these amount

A. 

B. 

C. 

D. 

Answer: C

1

9

1

16

1

8

1

24

https://dl.doubtnut.com/l/_tu3iQs17LwYN
https://dl.doubtnut.com/l/_yMk1x0spUFPk
https://dl.doubtnut.com/l/_4Nzp4nFknVON


Watch Video Solution

30. Three coins are tossed once. Fmd the probability of
getting
(i) 3 heads

(ii)
2 heads (iii) atleast 2 heads
(iv) atmost 2 heads (v)
no head (vi) 3 tails

(vii) exactly two tails (vm) no tail (ix)
atmost two tails

Watch Video Solution

31. If is the probability of an event, what is the probability of the event

not A

Watch Video Solution

2

11

32. A letter is chosen at random from the word ASSASSINATION. Find the

probability that letter is (i) a vowel (ii) a consonant.

Watch Video Solution

https://dl.doubtnut.com/l/_4Nzp4nFknVON
https://dl.doubtnut.com/l/_wm53iNI9HEif
https://dl.doubtnut.com/l/_Z7MItuKlmd3W
https://dl.doubtnut.com/l/_RDJJnBJERL58


33. In a lottery, a person choses six different natural numbers at
random

from 1 to 20, and if these six numbers match with the six numbers
already

fixed by the lottery committee, he wins the prize. What is the
probability

of Winning the prize in the

Watch Video Solution

34. Check whether the following probabilities  and  are

consistently defined 

(i)  


(ii) 

Watch Video Solution

P (A) P (B)

P (A) = 0.5, P (B) = 0.7, P (A ∩ B) = 0.6

P (A) = 0.5, P (B) = 0.4, P (A ∪ B) = 0.8

https://dl.doubtnut.com/l/_hb4WWNNXrVIv
https://dl.doubtnut.com/l/_HvWopteViKMl


35. Fill in the blanks in following table: 

Watch Video Solution

36. Given  and  . Find , if A and B are

mutually exclusive events.

Watch Video Solution

P (A) =
3

5
P (B) =

1

5
P (AorB)

37. If E and F are events such that  and 

, find (i)  (ii)  (not E and not F).

Watch Video Solution

P (E) = , P (F ) =
1

4

1

2

P (EandF ) =
1

8
P (EorF ) P

https://dl.doubtnut.com/l/_ttE351WvJM7G
https://dl.doubtnut.com/l/_s1sBEpzMaeiT
https://dl.doubtnut.com/l/_aP6ufNnlXQCe
https://dl.doubtnut.com/l/_O0MkIkFHEe95


38. Events E and F are such that  (not E or not F) . State whether

E and F are mutually exclusive.

Watch Video Solution

P = 0.25

39. A and B are events such that , and 

. Determine (i) P(not A), (ii) P(not B) and (iii) P(A or B)

Watch Video Solution

P (A) = 0. 42 P (B) = 0. 48

P (AandB) = 0. 16

40. In class XI of a school 40% of the students study
 Mathematics and

30% study Biology. 10% of the class study both mathematics
and biology.

If a student is selected at random from the class, find the
probability that

he will be studying Mathematics or Biology or both.

Watch Video Solution

https://dl.doubtnut.com/l/_O0MkIkFHEe95
https://dl.doubtnut.com/l/_NAFON9D3rkpK
https://dl.doubtnut.com/l/_HIld0GAyXL9C


41. In an entrance test that is
 graded on the basis of two examinations,

the probability of a randomly chosen
 student passing the first

examination is 0.8 and the probability of passing
the second examination

is 0.7. The probability of passing atleas

Watch Video Solution

42. The probability that a student will pass the final
examination in both

English and Hindi is 0.5 and the probability of passing
neither is 0.1. If the

probability of passing the English examination is
 0.75. What is the

probability of passing the Hindi examination?

Watch Video Solution

43. In a class of 60 students, 30 opted for NCC, 32
opted for NSS and 24

opted for both NCC and NSS. If one of these students is
 selected at

random, find the probability that
(i) The
student opted for NCC or NSS.
(ii)

The
student has opted neithe

https://dl.doubtnut.com/l/_dbOERbnEMNHm
https://dl.doubtnut.com/l/_fpJMOr3vqizz
https://dl.doubtnut.com/l/_6zbOtFaxFr0X


Miscellaneous Exercise

Watch Video Solution

1. A box contains 10 red marbles, 20 blue marbles nad 30 green marbles. 5

marbles are drawn from the box, what is the probability that: (i) all will be

blue? (ii) at least one will be green?

Watch Video Solution

2. 4 cards are drawn from a well - shuffled deck of 52 cards. What is
 the

probability of obtaining 3 diamonds and one spade?

Watch Video Solution

3. A die has two faces each with number 1, three
faces each with number 2

and one face with number 3. If die rolled once
determine:
i.
P(2) ii. P(1 or 3)

https://dl.doubtnut.com/l/_6zbOtFaxFr0X
https://dl.doubtnut.com/l/_DHSArQLhrOGl
https://dl.doubtnut.com/l/_YDg6puIlhcGZ
https://dl.doubtnut.com/l/_hWELjIPof0T1


iii. P(not 3)

Watch Video Solution

4. In a certain lottery 10,000
 tickets are sold and ten equal prizes are

awarded. What is the probability of
not getting a prize if you buy (a) one

ticket (b) two tickets (c) 10 tickets.

Watch Video Solution

5. Out of  students two sections of  and  are formed If you and

your friend are among  students what is the probability  you both

enter the same section  you both enter the different sections.

Watch Video Solution

100 40 60

100 (i)

(ii)

6. Three letters are dictated to
 three persons and an envelope is

addressed to each of them, the letters are
inserted into the envelopes at

https://dl.doubtnut.com/l/_hWELjIPof0T1
https://dl.doubtnut.com/l/_KXigx0nsgyp0
https://dl.doubtnut.com/l/_lMt0xUDkijHz
https://dl.doubtnut.com/l/_1BK6dh1HlScI


random so that each envelope contains exactly
 one letter. Find the

probability that at least one letter is in

Watch Video Solution

7. A and B are two events such that  and 

. 


(i)  (ii)  


(iii)  (iv) 

Watch Video Solution

P (A) = 0.54, P (B) = 0.69

P (A ∩ B) = 0.535

P (A ∪ B) P (A' ∩ B' )

P (A ∩ B' ) P (B ∩ A' )

8. From the employees of a company, 5 persons are selected to represent

them in the managing committee of the company. Particulars of five

persons are as follows: 

https://dl.doubtnut.com/l/_1BK6dh1HlScI
https://dl.doubtnut.com/l/_Te3ry82dXCDy
https://dl.doubtnut.com/l/_rMOnceb6YeMe


 


A person is selected at random from this group to act as a spokeperson.

What is the probability that the spokesperson wil be either male or over

35 years?

View Text Solution

9. If 4-digit numbers greater than 5,000 are
 randomly formed from the

digits 0, 1, 3, 5. and 7. what is the probability of
forming a number divisible

by 5 when, (i) the digits are repeated? (ii) the
 repetition of digits is not

allowed?

Watch Video Solution

https://dl.doubtnut.com/l/_rMOnceb6YeMe
https://dl.doubtnut.com/l/_AUiDOz0Lw2Ti


10. The number lock of a suitcase
 has 4 wheels, each labelled with ten

digits i.e., from 0 to 9. The lock opens
with a sequence of four digits with

no repeats. What is the probability of a
 person getting the right

sequence to open the suitcase?

Watch Video Solution

https://dl.doubtnut.com/l/_MPbiRzl9ColP

